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Example

Work and Solution

1, Find an expression to represent the area of
the rectangle.
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2, Find an expression to represent the area of
the rectangle,
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3. Ifthe area of a rectangular garden is 7 —b 4

and the length is £ 5 241, find an expression to
represent the width of the garden.

= 4w

[ERRCYOE

R

bz

= W M(-a-é)xw
q + v o
4, I;;}r;dtggnzﬁeprgszgvrj to represent the area of H 5 _% b\ [ 9— ~= W\
| -2 f= L. 3G 20%) | axtig
9x+18 == Bﬁz 3Ax (o3 24X
62 <245 N I\ X(X’“H\X-Zb) q.(x +2)
241126

3x

A=
A

2
l

|

5. Find an expression to represent the volume
of the rectanguiar prism shown below.
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V= wh

&. The valume of a rectangular prism below is
12y + 16. Find the height of the prism.
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7. Find an expression to represent the
perimeter of the rectangle.
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8. Find an expression to represent the
perimeter of the rectangle.
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9. Write an expession to represent the area of
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10. Write an expression to represent the
surface area of the rectangular prism

below.
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the trapezoid below.
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